
cfDbfgL tkm{

Psd'i^ cfDbfgL ?21585724.41 j*f ut ljlgof]hg 9700000

uf=kf= :tl/o 12085724.14

hDdf 21785724.41 21785724.14

s|=;= ljj/)f /sd

1 cNof 19235724.41

2 k|wfgdGqL s[lif cfw'lglss/)f 500000

3 afemf] hUuf Aoa:yfkg 50000

4 ljlzi^ AoflQm k|ltlglw d)*n vr{ 800000

5 pTkfbg ;fdfu|L ;]jf vr{ 300000

6 kbflwsf/L cGo ;'ljwf 300000

ljljw vr{ 200000

7 kbflwsf/L cGo eQf 100000

8 phf{ tyf jftfj/)f sf]if 300000

hDdf 21785724.41

1 j*f g= 1 lz$]Zj/ 1200000

2 j*f g= 2 ;f]dfbL 1275000

3 j*f g= 3 e'jgkf]/L 1400000

4 j*f g= 4 %x/f 1200000

5 j*f g= 5 d'em'é 1200000

6 j*f g= 6 h'&fkf}jf 1200000

7 j*f g= 7 aN(]éu(L 1225000

8 j*f g= 8 ;TojtL 1000000

9700000

s|=;= of]hgfsf] gfd &]ufgf /sd s}lkmot

1 cldn] ljtf{#f^ km;{jf^fs'/f df]=af= e'jgkf]v/L 263000

2 %x/f ahf/ If]q ;*s (nfg sfo{ -

Doflré_

%x/f 1000000

3 uf=kf= sfof{no cuf(Lsf] af^f] (nfg %x/f 300000

4 efn'vfg s';'g]rf}/ j*f ejg af^f] dd{t d'em'~\u 500000

5

uf=kf= :t/Lo ;*s tyf cGo k'jf{wf/ 

dd{t sfo{qmd uf=kf=:t/Lo 2000000

hDdf 4063000

1 dxfsfln df=lj= kmlg{r/ Dofn(fk 300000

1 (fj tNnf] kmf^ l;+rfO{ aN(]~u\u(L 200000

s= ;*s tkm{

v= ljBfno tkm{

u= l;+rfO tkm{

#= ljB't tkm{

cfDbfgL ljj/)f

dfly pNn]lvt cfDbfgLsf] Psd'i& /sdnfO{ tklznsf] lzif{sdf ljlgof]hg u/LPsf] % .

j*f ut ljlgof]lht /sd

hDdf

ufpkflnsf :t/Lo sfo{qmdx?sf] ljj/)f .

/}gfb]jL %x/f ufp¤kflnsf

ufp¤sfo{kflnsfsf] sfof{no 

%x/f kfNkf
lxpb] clwj]zgdf yk ePsf of]hgf tyf sfo{qmdx?

sfo{qmsf] ;+lIfKt k]mxl/:t

vr{ tkm{



1 %x/f rf]/af]^ lnkm\^ vf=kf= ^ «|«fG;ld^/ 

vl/b

%x/f 300000

2 ljB't kf]n uf*\g] tyf tf/ tfGg] sfo{ 6,7,8 j*fdf 1400000

1700000

~= ;+rfng vr{ tkm{

1 cWoog cjnf]sg e|d)f vr{ 700000

2 kmlg{r/ v/Lb 100000

3 Ogwg vr{ 500000

4 ;]jf k/fdz{ 500000

5 sd{rf/L Ifdtf ljsf; tflnd 122724.41

1922724.41

hDdf

hDdf



s|=;= of]hgfsf] gfd &]ufgf /sd s}lkmot

1

/}gfb]jL o'jfSna b]pn] kf]v/f elnjn 

u|fp)* tf/hfnL lz$]Zj/ 125000

2

;fd'bfoLs :jf:Yo O{sfO{ ;b]{jf knf:^/ 

tyf dd{t ;f]dfbL 200000

3 nD;fn ^f]n vf=kf= kfO{k vl/b e'jgkf]v/L 150000

4 z'jf]w k|f=lj= sf]&f kf^]zg ;Nn]wf/f 150000

5 d'em'~\u sl[if ;xsf/L ;+:yf efn'vfg 150000

6 d]xn(fk ;f}o{gL uf}/fdf/ x'b} ;j{]%]*f df]=af=d]xn(fk 200000

7 nf}wfkfgL O+u'/Lof df]=af= aN(]~u(L 150000

8 lgldrf}/ em/gf Aoa:yfkg ;TojtL 500000

9 j];f/sfg bflun kf]v/L x'b} bx df]= jf bflun 75000

1700000

1

;j} vf=kf= tyf ko{^sLo :Yfnsf] 

l*=lk=cf/ tof/ 1000000

2 cfly{s ;xfotf sf]if 500000

3 u'?of]hgf lgdf{)f 500000

4

/}gfb]jL o'jfSna b]pn] kf]v/f elnjn 

u|fp)* tf/hfnL lz$]Zj/ 125000

5

;fd'bfoLs :jf:Yo O{sfO{ ;b]{jf knf:^/ 

tyf dd{t ;f]dfbL 200000

6 nD;fn ^f]n vf=kf= kfO{k vl/b e'jgkf]v/L 150000

7 z'jf]w k|f=lj= sf]&f kf^]zg ;Nn]wf/f 150000

8

d'em'~\u sl[if ;xsf/L ;+:yf ^df^/ ljp 

vl/b d'em'~\u &f^L 150000

9

d]xn(fk ;f}o{gL uf}/fdf/ x'b} ;j{]%]*f 

df]=af= d]xn(fk 200000

10 nf}wfkfgL O+u'/Lof df]=af= aN(]~u(L 150000

11 lgldrf}/ em/gf Aoa:yfkg ;TojtL 500000

12 j];f/kmfg bflun kf]v/L x'b} bx df]=af= %x/f 75000

13 Aof*\ldG^g sf]^{ lgdf{)f %x/f 200000

hDdf 3900000

12085724.41

;fljs lzif{s ;+;f]wg lzif{s /sd

nfs'/L u}/f vf=kf= 400000 j*f g= 4

;f}/]gL vf=kf= kfO{k vl/b 100000 j*f g= 4

2
&'nf]v]t l;+rfO{ ufpkflnsf cuf*L lkmN* lgdf{)f 100000 j*f g= 4

ufpkflnsf cuf*L lkmN* lgdf{)f 100000 j*f g= 4

cfo'j{]b O{sfO{ %x/f zf}rnfo lgdf{)f 100000 j*f g= 4

800000

/}gfb]jL %x/f ufpkflnsf

pkfWoIf sfo{qmd tkm{

lxpb] clwj]zgdf yk ePsf of]hgf tyf sfo{qmdx?

hDdf

s'n hDdf

lzif{s ;+;f]wg

1
nfs'/L u}/f vf=kf=

3 %x/f ;fd'bfoLs ejg 



s|=;= of]hgfsf] gfd &]ufgf /sd s}lkmot

1 lgd*f*f a'(f#/ /ftfdf^f dfGb|] ('éf 

df]=af= 

du/fg 150000

2 u}/fkfgL tf~gfdL ^f]n dfgsf]^] ^f]n 

(f* ;Dd df]=af= 

e'^'SbL 100000

3 bf]gbf/] eujtL k|f=lj= x'b} /ftfdf^f 

hf]*\g] df]=af=

c;f/] 200000

4 /ftfdf^f em]bL{ a]n*f*f df]=af= e'^'SbL 100000

5 a}hfnL*f*f eo/:yfg df]=af= c;f/] 100000

650000

1 ljBfno Aoa:yfkg ;fdfu|L v/Lb j*f :t/Lo;a} ljBfno 150000

1 a'(fkw]/f ^+sL lgdf{)f du/fg 50000

2 ef]^fgL vf=kf= -^+sL lgdf{)f_ df]x/] 50000

100000

1 dlxnf ejg lgdf{)f tyf dd{t ;fpg] 50000

2 ;fd'bfoLs j*f ejg dd{t b]pn] 100000

3 dlxnf ejg dd{t c;f/] 50000

200000

1 ;fd'bfoLs ljB't Aoa:yfkg j*f :t/Lo 50000

2 ;xsf/L Aoa:yfkg 50000

100000

1200000

#= ejg tkm{

hDdf

~= cGo sfo{qmd

hDdf

s'n hDdf

lxpb] clwj]zgdf yk ePsf of]hgf tyf sfo{qmdx?

s= ;*s tkm{

hDdf

v= ljBfno tkm{

u= vfg]kfgL tkm{ 

hDdf

/}gfb]jL %x/f ufpkflnsf

1 g= j*f lz$]Zj/ kfNkf 

j*f tkm{sf sfo{qmdx? j*f jfO{h ljj/)f cg';f/ /x]sf %g .



s|=;= of]hgfsf] gfd &]ufgf /sd s}lkmot

1 dfems'nf] dd{t 100000

2 afpnf s'nf] dd{t 75000

3 abjf/L s'nf] dd{t 100000

4 &'nf] s'nf] dd{t 100000

5 rGbgjf; s'nf] dd{t 100000

475000

1 ;b{]jf s'nfogyfg dfem ufp df]=jf= 100000

2 ;f]dfbL l;:g] df]=jf= 100000

3 tflG;+un dfemufp #'D^L b]lv (f*sf] 

kf]v|f x'b} l/~/f]* hf]*\g] df]=af=

100000

4 b]n'~\uf df]=af= 100000

5 ;]lt('~\uf emfO{*f*f x/f{vs{ df]=af= 100000

6 sf]snwf/f :jfdLsf?v &f]*'jf df]=jf= 100000

600000

1 g'gynf ejg lgdf{)f 100000

1 af;vs{ vf=kf= wf/f lgdf{)f 100000

1275000

;fljs gfd ;+;f]wg gfd /sd s}lkmot

1 whfafGg] ahflt cf&d'/] df]=af ahflt cf&d'/] df]=af 300000 ufkf:t/Lo

2 ef]^fgL dNn] vf=kf ef]^fgL en]{ vf=kf= 200000 ufkf:t/Lo

3 ahflt cf&d'/] df]=af tflG;~\un l/~\u /f]* 100000 j*f :t/Lo

1 sfof{no ;dfg l;lnG*/ v/Lb 16000

2 /fwfs[i)f dlGb/ k`rdL d]nf 25000

3 d%]Gb| b]jL b'uf{ k'hf Aoa:yfkg 15000

4 l;?kfgL kf]v/f*f*f df]=af= 30000

5 vGofsf ?v wgsf{ df]=af= 75000

6 #F^ kGt^f]n ;]lt('~\uf vf=kf= dd{t 40000

7 lgDbL tNnf vf]l/of uf]/]^f] af^f] 25000

8 ahfbL sfl;kf]v/L uf]=jf= 25000

9

kfs'/Lsf ?v /fgf^f]n ;'gf/ *f*f 

uf]=af= 35000

10 dd{t ;Def/ sfo{qmd 54000

340000

u= ejg tkm{

#= vfg]kfgL tkm{

s'n hDDf

~= lzif{s ;+;f]wg 

r= ca)*f /sd a)*f ul/Psf] -ljkb tyf e}kl/ lzif{s_ j*f tkm{

hDdf

2 g= j*f ;f]dfbL kfNkf 

lxpb] clwj]zgdf yk ePsf of]hgf tyf sfo{qmdx?

s= l;+rfO{ tkm{

hDdf

v= ;*s tkm{

hDdf

/}gfb]jL %x/f ufpkflnsf



s|=;= of]hgfsf] gfd &]ufgf /sd s}lkmot

1 cr{n#f^ sogsf]?v s'nf] dd{t xl/cfk 100000

2 Dofnsf ?v ;]/fkmf^ x*]jf l;rfO{ *f*fufp cldn] 100000

200000

1 x''^'~\uf a]nsf?v df]=af= UofjLg x'^]~uf 200000

2 cDnfjf; k]nfjf; tfnkf]v/f df]=af= e'jgkf]v/L 300000

3 tfnkf]v/f afv|] ljtf{#f^ df]=af= tfbkf]v/f 100000

4 bdf/vf]nf ;]ne'sf lrnfpg]kfgL df]=af= *f*fufp 100000

5 u'/wf}nL cwf{O{ kmf]Ss]cfk df]=af= kmfSs]cfk 100000

800000

1 cldn] Ps #/ wf/f lj:tf/ vf=kf= hf]ujf*L df=lj=;Dd 200000

1 d}bfg a:tL ;+/If)f cldn] 100000

2 hf]ujf)fL df=lj= ^|jfO{n]^ lgdf{)f cldn] 100000

1400000

;fljs gfd ;+;f]wg gfd /sd s}lkmot

/f]ufxf vf=kf= 50000

ljleGg ;fgf of]hgf kfO{k vl/b 100000

sfe|] s'jf dd{t 50000

ljleGg ;fgf of]hgf kfO{k vl/b 50000

tYof~|s ;+sng tyf gfl/ lbjz 20000

aly{~\u ;]G^/ lgdf{)f tyf ;fdfu|L 

;+/If)f sfo{qmd 50000

4 :jf:Yo tkm{
aly{~\u ;]G^/ lgdf{)f tyf ;fdfu|L 

;+/If)f sfo{qmd 400000

cldn] w}/]gL x'^'~\uf x*]jf kmf^ df]=af=
kf~u|fvf]nf x'^'~|uf x*]jf kmf^ 

df]=af= 100000

1 kf+u|f vf]nf tfnkf]v/f vf=kf= j*f :t/Lo 100000

2 kmf]Ss] cfk lnkm\l^~u vf=kf= 100000

3 ljleGg ;fgf of]hgf kfO{k vl/b 150000

4 aly{~\u ;]G^/ lgdf{)f tyf ;fdfu|L ;+/If)f sfo{qmd 50000

1 ;To b]jL dlGb/ lgdf{)f uf]v'~uf 100000

2 /}gfb]jL dlGb/ lgdf{)f *f*fufp 100000

3 hn]Zj/ dlGb/ lgdf{)f *f*fufp 100000

4 rf}kf/L u]^ tyf dlGb/ dd{t rf}kf/L 100000

2 sfe|] s'jf ;'jf vf]nf vf=kf=

3 dlxnf ju{ tkm{

r= ca)*f /sd a)*f ul/Psf] -e}kl/ lzif{s ? 4 nfv_ j*f tkm{

%= ko{^g k|a${g ? 4 nfv

hDdf

u= vfg]kfgL tkm{ 

#= cGo k'jf{wf/ lgdf{)f

s'n hDDf

~= lzif{s ;+;f]wg 

1
&'nfkw]/f ;fgf]kw]/f /f]ufxf lrnfpg] 

kfgL lnkm\l^~|u vf=kf=  

/}gfb]jL %x/f ufpkflnsf

3 g= j*f e'jgkf]v/L kfNkf 

lxpb] clwj]zgdf yk ePsf of]hgf tyf sfo{qmdx?

s= l;+rfO{ tkm{

hDdf

v= ;*s tkm{



s|=;= of]hgfsf] gfd &]ufgf /sd s}lkmot

1 %x/f whfjfGg] df]=af= -jfn lgdf{)f_ %x/f 400000

2 :jf:Yo rf}sL sf]nforf}/ a'(Lrf}/ df]=af= %x/f 200000

3 %x/f bx cfkm|]rf}/ df]=af= -u|fe]n_ %x/f 200000

4 ;fpg]g]^f afhaf/L df]=Af= %x/f 200000

hDdf 1000000

1 k/f]ksf/ ;xsf/L lkmN* lgdf{)f %x/f 50000

2 nugl;n ;xsf/L %x/f 50000

100000

1 rf]/jf]^ v]n d}bfg lgdf{)f rf]/jf]^ 100000

1200000

;fljs gfd ;+;f]wg gfd /sd s}lkmot

s[lif e|d)f 50000

vf]/uf]& ;'#f/ sfo{qmd 100000

2 dxfsfln df=lj= tf/jf/ lgdf{)f tNnf %x/f vf=kf= 100000

dufn s')* vf=kf= dd{t 50000

;fpg]kfgL vf=kf= dd{t 50000

lbk sfkmna'^f vf=kf dd{t 100000

l/&f jf]^ vf=kf= dd{t 100000

l;v/ *f*f ;]nkf]v/f df]=af= 50000

%x/f / cDnfjf; ahf/ kmfO{j/ ^<«; 

lgdf{)f 100000

5 df]& /x]h] df]=af=
ufpkflnsf ejg cuf*L lkmN* lgdf{)f 50000

ldn ck|m]rf}/ df]=af= 50000

j*f sfof{no kmlg{r/ tyf kmlg{l;é 50000

1 df]& pn{]lg lnkm\^ vf=kf= hfg] af^f]  j*f g=4 150000

2 WhfafGG]f ufu|] uf]on] aN#f df]=af= j*f g=4 100000

3 whfafGG]f x'b} Wjf#f^ e;fx df]=af= j*f g=4 100000

4 (fj sne^{ tyf x'dkfOk lgdf)f j*f g=4 100000

5 wgd'*flkkn x'b} vn]u}/f df]=af= j*f g=4 50000

6 gd'gf ljBfno sfo{qmd j*f g=4 435000

7

cfjfl;o ljBfno e|d)f tyf a}&s 

Aoa:yfkg j*f g=4
65000

1000000

1 ;*s tyf vfg]kfgL dd{t ;Def/ sfo{qmd 391500

2 ;'Gtnf s[ifs s[lif e|d)f 8500

Rf= ca)*f /sd a)*f ul/Psf] -e}k/L sfo{qmd lzif{s_ j*f tkm{

4 l;v/ *f*f ;]nkf]v/f df]=af=

6 ldn ck|m]rf}/ df]=af=

~= ca)*f /sd a)*f ul/Psf] -cfjflzo ljBfno sfo{qmd lzif{s_ j*f tkm{

hDdf

u= cGo k'jf{wf/ lgdf{)f

s'n hDdf

#= lzif{s ;+;f]wg 

1 kz' EoflS;g sfo{qmd

3 vfg]kfgL dd{t ;+ef/ ? 300000

/}gfb]jL %x/f ufpkflnsf

4 g= j*f %x/f kfNkf 

lxpb] clwj]zgdf yk ePsf of]hgf tyf sfo{qmdx?

s= ;*s tkm{

v= ;xsf/L tkm{

hDdf



s|=;= of]hgfsf] gfd &]ufgf /sd s}lkmot

1 sflnsf dlGb/ If]q clUg /]vf lgdf{)f d'em'~\u 100000

2 cdnfaf; d'em'~\u sfpn]vf]nf df]=af= d'em'~\u 100000

3 lza dGbL/ efn'vfg rf}sf dufn df]=af= d'em'~\u 100000

4 af^'nL kf]v/f n]v df]=af= d'em'~\u 100000

5 af]v/ tNnf au}rf s]t'sL*f*f df]=af d'em'~\u 100000

6 k'/fgf] af^f] u|fe]n d'em'~\u 200000

hDdf 700000

1 sflnsf df=lj= kmlg{r/ d'em'~\u 500000

500000

1200000

;fljs gfd ;+;f]wg gfd /sd s}lkmot

1 dlxnf Ifdtf ljsf; sflnsf df=lj= kmlg{r/ v/Lb 80000

2 blnt Ifdtf ljsf; blnt ;dGjo ;ldlt - ejg lgdf{)f_ 50000

3 wf/fkfgL  gof#/ enf{#f/L df]=af=

e}/j:yfg b]lv l/kfxf^f]n rf}kf/L 

df]=af= 100000

4 afnaflnsf Ifdtf ljsf; afnaflnsf ;dGjo ;ldlt 100000

1 j*f sfof{no ;/;kmfO{ tyf kfO{k vl/b 7240

2 lthlut sfo{qmd / ufl* ef*f 11250

3 ;fp)* aS; vl/b 13000

4 s^f}h] kfgL k')fL{df d]nf 50000

5 ;+ljwfg lbjz ufl* ef*f 2200

6 ;f]d/] uf*f kfgL df]=af= 35000

7 ahfbL e}l;vf]nf df]=af= 60000

8 kz'lkt dlGb/ dd{t ;Def/ 27000

9 af^f] dd{t sfo{ 35000

10 j*f sfof{no dd{t 9310

hDdf 250000

1 sfkmna'§f b]lv yfdL ^f]nf ;Dd uf]=af= 50000

2 lub\b] *f*f sfpnvf]nf df]=af= 40000

3 bz} k'hf Aoa:yfg 18600

4 kz' cf}iflw tyf cf}hf/ vl/b 50000

5 gf/L lbjz sfo{qmd 10000

6 kfO{k vl/b -l;+rfO{ tkm{_ 55000

7 d'em'é :jf= rf}sL knfO{ kmlg{r/ 26400

hDdf 250000

hDdf

s'n hDdf

u= lzif{s ;+;f]wg 

#= ca)*f /sd a)*f ul/Psf] -e}kl/ lzif{s_ j*f tkm{

~= ca)*f /sd a)*f ul/Psf] -k|j${gfTds lzif{s_ j*f tkm{

/}gfb]jL %x/f ufpkflnsf

5 g= j*f d'em'~\u kfNkf 

lxpb] clwj]zgdf yk ePsf of]hgf tyf sfo{qmdx?

s= ;*s tkm{

v= ljBfno tkm{



s|=;= of]hgfsf] gfd &]ufgf /sd s}lkmot

1

dflnsf ljBfno b]lv rxnf k'R%f/ kmf^ 

df]=af= rxnf 200000

2 cldn] j]t]gL df]=af= cldn] 300000

3 sf]n%]*f afv|] jg]vf]nf df]=af= k^'jfrf}/ 225000

4 l;dn ufxf kf]v/f df]=af= rxnf 75000

5 kfTn]yfg b]lv a;]gL #f^ df]=af= kfTn] 100000

hDdf 900000

1 u'xf/&fgf df=lj= kmgL{r/ Aoa:yfkg u'xf/&fgf 100000

2

sflnsf cf=lj= km*\s] lgdf{)f -

cf/=l;=l;= k'n_ v'gwf/f 200000

300000

1200000

;fljs gfd ;+;f]wg gfd /sd s}lkmot

1

sfNr]u}/f b]lv sflnsf cf= lj= hf]*\|g] 

df]=af= pNn]/ ^f]*\|s] v'Gwf/f df]=af= 200000

2 u'/f; wf/f &f*f]jf^f] ('~\ufsf] ;f]ln~\u u'/f;wf/f df]=af= 100000

3 u'xf/&fgf cdnwf/f sflndf^L df]=af= u'xf/&fgf cdnwf/f sflndf^L uf]=af= 100000

4

dflnsf ljBfno b]lv k'R%f/ kmf^ uf]]=af= dflnsf ljBfno b]lv rxnf k'R%f/ 

kmf^ df]=af= 100000

5

hghftL efiff k|lzIf)f

ljkGg kl/jf/ a+u'/ ljt/)f 40000

1 aiff{t af^f] ;f]/;f/ j*f :t/Lo 197000

2 j*f sfof{no /+u/f]ug j*f sfof{no 60000

3
ufp#/ lSnlgs #*/L ;Ddfpg] sfo{ u'xf/&fgf 45000

4 ;'O^/ d]lzg dd{t h'&fkf}jf 25000

5 j*f sfof{no vfg]kflg Aoa:yfkg j*f sfof{no 30000

6

j*f sfof{no cuf*L UofjLg ('~uf 

nufpg]
j*f sfof{no 30000

7 Xo'dkfO{k ('jfgL tyf Aoa:yfkg k|x/L rf}sL cuf*L 38000

425000

u= lzif{s ;+;f]wg 

#= ca)*f /sd a)*f ul/Psf] -e}kl/ lzif{s_ j*f tkm{

hDdf

6 g= j*f h'&fkf}jf kfNkf 

lxpb] clwj]zgdf yk ePsf of]hgf tyf sfo{qmdx?

s= ;*s tkm{

v= ljBfno tkm{

hDdf

s'n hDdf

/}gfb]jL %x/f ufpkflnsf



s|=;= of]hgfsf] gfd &]ufgf /sd s}lkmot

1 g'jf/] s'nf] l;+rfO{ lalgbdf/ 75000

2 #f]*]lkkn l;+rfO{ tNnf] hf]ubdf/ 75000

150000

1

df}nff*f*f v*|s]gL kf]v/L aN(]~\u(L 

df]=af= 100000

2

h'&fkf}jf s'df/L b]jL k|f=lj= sfe|]vf]nf 

df]=jf= 100000

3 s's'/uf*] j/lkkn v*\sfsf] */ df]=jf 100000

4 sf]n]nvf]nf uxt] lrlbkfgL df]=af= 100000

5 sfe|]*f*f k'g^f]nf sogy/L df]=af= 75000

6 lxn]kf]v/L hf]ubx ko{^g df]=af= 75000

7 hf]ubdf/ nfdLbdf/ df]=af= 100000

hDdf 650000

1 s+rg vfkf v*\sf^f]n ;'sfbdf/ 200000

2 :jf:Yo rf}sL vf=kf= uxt] 75000

3 ?g]x vf=kf= sfpn] 75000

hDdf 350000

1 s'df/L b]jL k|f= lj=kvf{n lgdf{)f wf/fkfgL 75000

hDdf 75000

1225000

;fljs gfd ;+;f]wg gfd /sd s}lkmot

1 ldngrf]s s'*f kfgL df]=af= kw]/]vf]nf u'?~u*f*f df]=af= 100000

2 uxt] df=lj= vf=kf uxt] df=lj= u]^ lgdf{)f 100000

3 nf^Luf*] rf]s ;'sfbdf/ df]=af= ab{af; ;'sfbdf/ df]=af= 200000 ufkf:t/Lo

4 e§]]ln vf=kf= e§]] lnkm\^ vf=kf 1500000 ufkf:t/Lo

5 aN(]~u(L b]jL hfg] l;*L lgdf{)f

df}nf*f*f v*\s]gLkf]v/L aN(]~\u(L 

df]=af= 200000 ufkf:t/Lo

6 k|x/L rf}sL OGwg v/Lb j*f :t/Lo jHff/ ;/;kmfO{ sfo{qmd 20000

1 aiff{t af^f] ;f]/;f/ 97000

2

dlxnf l;nfO{ a'gfO{ tyf a'^Ls ;+rfng 

sfo{qmd 100000

3

UofjLg hfnL eg{] &fp -nf^Luf*] 

psfnf]_ 45000

4 j*fsfof{no ^Lg kl/jt{g 70000

5 >L uxt] df=lj= aflif{s pT;j 10000

6 aN(]~u(L :jf:Yorf}sL kmgL{r/ vl/b 49000

7 j*f sfof{no ;f]nf/ vl/b 109000

8

h'&fkf}jf s'df/L b]jL k|f=lj= sfe|]vf]nf 

df]=af=-('~uf kmfg{] sfo{_ 20000

500000

~= lzif{s ;+;f]wg 

r= ca)*f /sd a)*f ul/Psf] -e}kl/ lzif{s_ j*f tkm{

hDdf

s= l;+rfO{ tkm{

hDdf

v= ;*s tkm{

u= vfg]kfgL tkm{

#= ljBfno tkm{

s'n hDdf

/}gfb]jL %x/f ufpkflnsf

7 g= j*f aN(]~\\uu(L kfNkf 

lxpb] clwj]zgdf yk ePsf of]hgf tyf sfo{qmdx?



s|=;= of]hgfsf] gfd &]ufgf /sd s}lkmot

1 lgldrf}/ l;+rfO{ 150000

2 kfgL rf}/ l;+rfO{ 150000

3 sogsf] km]bd'gLsf] s'nf] 100000

400000

1 sfpn]^f]n df]=af= lgdf{)f 150000

2 s]j/]%])ff a'(Lbdf/ df]=af= lgdf{)f 400000

3 ;TojtL ;fd'bfoLs cWoog s]Gb| sf]&f 

Aoa:yfkg b/fh,s'rL{,^]jn,vl/b 

50000

600000

1000000

s= l;+rfO{ tkm{

hDdf

v= ;*s tkm{

hDdf

s'n hDDf

/}gfb]jL %x/f ufpkflnsf

8 g= j*f ;TojtL kfNkf 

lxpb] clwj]zgdf yk ePsf of]hgf tyf sfo{qmdx?


